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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an assignment.

This increases his/her learning engagement. / Th BT Ca| Gmfs':lﬁf Rl AP ﬁ"{
gﬂ%?/waﬁvﬁr%ﬁmﬁﬁﬁﬁ 21 U8 9P S &t ° gfeg Han
I

1. Intellectual / difgs
2. Behavioural/ <JdeR

3. Emotional /HTdeh
4. Social / GTATTSIH

Correct Answer :-

« Intellectual / Sifgem

2) ADHD children have difficulties in which of the following areas? /

fafafea 4 9 foa &= ° cdivas! =i & Hie-s gidl 82
1. All of the above / 30d® T

2. Attention only / Shdel €T &l

3. Hyperactivity only / hael 37T FfhadT

4. Impulse control only / Thdel 39T AIF0T

Correct Answer :-

« All of the above /30'91?5 g

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs to

the IQ classification of . /Wg@ﬁ&ﬂﬁ@ 9 aﬁ%asﬁ?aﬁﬂﬂﬁﬁ?w 10
¥ urg ot B, 9% ¥ mEay iffervur A Hafia g1



1. Superior / A8 (FUIR)
2. Average / raa

3. Genius / UfaHmRmel (Shfaad)
4. Slow learner / FEATR (Tl TeX)

Correct Answer :-

« Average / 3

4) Which theory of development also focuses on social interactions in development? / fa®rg o1

PI-I1 Rigid, e & amfore deaul R WY s Higd a1 82
1. Vygotsky / a@ﬂa——cﬁr
2. Piaget / TOTSt

3. Freud / IIS

4, Kohlberg/ PIEaT
Correct Answer :-

« Vygotsky / aTgaicEh!

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one of

the following creative abilities in students? / IE B DET o ?ﬁ% G| YTq &> ITYNT B ﬂ?ﬂﬁ@
P31 & forg BT vep RIere ) ug Siwq A Aee 3 fF ol § FAufefad & @ #19-H
TIATHSD &HdT 82

1. Flexibility / @l

2. Originality / ®iforepar
3. Elaboration /fa&dR
4. Fluency / UdTg
Correct Answer :-

« Fluency / Udl&

6) The movement in Maslow’s Hierarchy of needs should be from / AF@T & 90T &
YSFA A Imaegs aifa gl aifye-



1. Love and belonging to Physiological needs / iR 3R 37040 & ARAITSIS ATAIADAT
doh

2. Self- actualization to Physiological needs / 3Tca-{d2evor & IATATSIG ATAIRAT db

3. Safety needs to Self-actualization / gI&TT TaIhdT H HTcA TaATIT Teh
4. Physiological needs to Self —actualization / @I HTaRIRdT & 3cH [Afg d@

Correct Answer :-

. Physiological needs to Self —actualization / TSI TaTRdT F 3 &fg db

7) Select the quality that is needed for a counselor. / WA & fov 3mags R{Avar #r
T FII

1. being judgmental/ fAoias g

2. being arrogant / 3TTRATAT BT

3. being empathetic / H%'I?g’?lilj%f TRk BT

4. being defensive / J&TcaAd BT

Correct Answer :-

« being empathetic / W‘g’aﬁ% Tk BT

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol

during pregnancy? / 3R THTTEAT F SR AT o T8 AT F WG FT Va4 6T g, ar
frer # FAT THEATT B AT FIHTEAT 82

1. Prenatal retardation / Udd C[c‘f el

2. Fetal withdrawal syndrome / 30T arodT RigeT

3. Fetal alcohol syndrome / 30T H#A ﬁ?;ﬁ:r

4. Perinatal alcohol syndrome / G&ddTelld FT ST
Correct Answer :-

« Fetal alcohol syndrome / 30T AT E3EL]

9) What strategy should a teacher use in a situation when the student is being impolite? / &

¥ 3cgs 8 9= @ ufy F vF Rrerw F fFa welifa #1 soahr swer aie?



1. Punishment / &%

2. Remind the student of classroom norms / H&TT fAIAT @I SET Hr TG farmar
3. Argue with the student / BT & Y dTG-TddlG HIAT

4, Express shock / 3raafhd &R Sar

Correct Answer :-

« Remind the student of classroom norms / &Il TAIHAT P TIET P ITe Tealran

10) What is the term given to describe the conditioned stimulus before classical conditioning

occurs?/mﬁﬁ'ﬁ?mﬂﬁﬁmaﬂﬁﬁHMWWWﬂ?mm—W
ersg fem = §2

1. Natural stimulus / l,vllcpI?ICh Saoledl

2. Unconditioned stimulus / Hﬂaﬂfﬁﬁ LG

3. General stimulus / HTHATST 3Tl
4. Neutral stimulus / de€d 3dolal

Correct Answer :-

« Neutral stimulus / dETd SASTAT

11) What is the set of linguistic rules that govern the use of language for communication called?
| amers fAgAT F1 9% FIT-U1 WHOAT § S FOR F AU o F waer # Fafya wwar
2?

1. Grammar / <ThI0T

2. Phonemes / Tafald

3. Pragmatics / 3UATAATIG
4, Syntax / Al ICEIG]

Correct Answer :-

« Pragmatics / 3UANNATEIG

12) By the age of six months, infants are able to do the following, except ./ T AR A
3y aw, Ry e & el = § waw g &



1. Babbling / Jc eIl
2. Crawling /U & I Tl (shiToidT)

3. Sit up / ot
4. Eat solids / oI ety @rar

Correct Answer :-

« Crawling /Ud & T Tl (hifeidT)

13) When social beliefs are transferred from one generation to another, it becomes part of: / S«
FHAfaE ATt # e I F gud A 7 vueaia Far amar € @ a8 s@ar
feear o= S &

1. Transmission of culture / {-R-f{jlra BT T
2. Social mobility / HTIHATISTD ITTARMeTdT

3. Social change / HTHATSID gRadT

4. Individual development / <IThaTd TawTH

Correct Answer :-

« Transmission of culture / HEHIA BT HAIU]

14) Personality is measured based on approach./ Sgfddca & Tieesor
& YR 9 AT AT g

1. Ideographic/ e fawge (3mSfear anfre)
2. Socio-radical / m-m@

3. Surface-radical / m-maﬁ

4. Nomothetic/ IdATAW 3U@TH (A1ATAEHR)

Correct Answer :-

« Nomothetic/ AIATIE FURTH (FANAEIF)

15) In which of Piaget’s 4 development stages is object permanence developed? / Rt & 4
e sawamat F § frw srawwr F avg voRcs Refa ad 22

1. Formal Operations / 3gaies dfharcad



2. Concrete Operational / IR-‘T HichATcHD
3. Preoperational / EEff HfehaATcHD
4. Sensorimotor / 3fegd A

Correct Answer :-

« Sensorimotor / 3fegd JAfAd

16) Piaget’s Pre-operational stage is from ./ amar &r qj—aﬁnnw agEar _ @I
1.7-11 years / 7-11 G

2. 11 years and above / 11 Iy ug JAR

3.2 -7 years [/ 2-7 ag

4.0 -2 years /0-2 I8

Correct Answer :-

« 2-7years/2-7 a§

17) Who said, An intelligence is a “biopsychological potential to process information in certain
ways in order to solve problems or create products that are valued in at least one culture or
community”. ﬁraﬁwaaﬁm"maﬁaﬁmmmm#mwmm
Wﬁmrﬁaﬁmﬁﬂ:ﬁv%aﬂaﬁ#aﬁﬁm@aﬁ%ﬁm
AT e g 1

1. Gardner/ ISR

2. Willingham/ Taferatgat
3. Callahan /ool

4. Sattler/ BTN

Correct Answer :-

« Gardner/ ISR

18) According to Psychosexual developmental theory, failure to successfully complete a

particular stage would result in: / #aTd [ AT ﬁ?{}lﬁ & AR, Th Ay Tror Y
RIS U F3 A AHadr & TROMATEET g1em:



1. Fixation / fEI{IeRIoT (heraiere)
2. Libido / AT

3. Electra complex / U@I_GFQT FAITY
4. Oedipus complex / 3Nf3ud T

Correct Answer :-

« Fixation / FEU{IeR0T (TRarA2IeT)

19) By what age are children likely to make friends? / fr® 37 & =9 g Ta ¥ & FToF
g &

1. Four years / IR a&
2. Three years / ciiel a9
3. One year /U dY

4, Two years / ar ay

Correct Answer :-

 Three years / RIGEGL

20) is the main determinant of cognitive development and learning. /

TaETeRF fawm 3R sftem w1 e fuRE
1. Values / 3T&f&ad
2. Beliefs / AT AT

3. Principles / frgra
4. Culture / ¥R

Correct Answer :-

« Culture / GFpia

21) If a child has difficulty putting words down on paper, it may be due to a learning disability.
The best instructional strategy to implement in a classroom to support children who struggle

with writing would be to: / If& fFHY = F Aeal F FRE W fo@a # FaE g §,



Y Ig AT H&THAT F FROT ) FHaT g1 AW F Y FOY FA 1A qodl $T FAGA
A & AT Fam A AN FQ T T =S IqeATHS Wi AEafataa g

1. Provide more time on task/ T U JTAHF THI YT hIeAT

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ del-3Tel-

I Geradl UTd il & folv Jaiud &ed & AT T TIEaia 3/ ai® uerd &dar

3. Provide peer tutoring during writing time/ & AT b GIRTT TehdH! SRl YT hlaT

4. Provide detailed directions and graphic organizers to help with structure./ EXTT & AT GG
A & for farga AEy 3k aiftee 3maees uera &

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ GIdT & AT FSG
e & fow fega Ader 3R wfes 3mASIE U aea

22) The variable that the scientific investigator changes or manipulates is called:/ 9§ <X for &

dAF IHeATE qEere § AT FH FAAT &, 39 Fgl A &
1. independent variable/ TadT T

2. responding variable/ 3ARGRIT TR

3. Control/ I

4. dependent variable/ 3T W

Correct Answer :-
« independent variable/ TIdT T

23) The mental networks that children form in their mind is known as: / 94 Y & feATr -
desl aT ATAF sicds & 3 T H AT ST &

1. Impulses / 39T (3UeH)

2. Archetypes / 3TTIRT (3TCI3U)
3. Maps / @TepT (H1)
4. Schemas / GRBeTAT (THIHT)

Correct Answer :-

« Schemas / TR&eTAT (FhIFT)



24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

qIald & FATAST HIRIfAT & JA9T A Fi9-91 JA=aT enfaer 91?2

1. Dog / &dI
2. Pigeon / heX
3. Rabbit / @I

4. Rat / gl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a sense

of competence? / TRFFA & FAAHAG® Qe & Fa @or & gyfaAfar i smaar #1
fawra afFafaa @ar 872

1. Autonomy vs. shame / FIIAAAT TATH ofooll

2. Industry vs. inferiority / ZTNT FATH EleAcl

3. Generativity vs. stagnation / StelellcHhdl deAtd FEARAT
4, Initiative vs. guilt / UEeT IATH GITSAT

Correct Answer :-

« Industry vs. inferiority / 3T IATH AT

26) Which of the following is not a hindrance to creativity? / RFafaf@d & & v
THATCHSAT & fAT T 3y 7gf 82

1. Divergent thinking / &= @

2. Functional fixedness / @hdTcH® T IHAEAT
3. Convergent thinking / &

4. Mental set / ATATHD AT

Correct Answer :-

. Divergent thinking / ¥ I



27) Which of the following disorders is caused due to error in cell division?/ YA®T AT A
R & Fror rfaf@a & @ Fia-ar fFER &ar 82

1. ADHD / USIT=EY

2. Dyslexia / [3€etfraar

3. Autism / 3iffesa

4. Down’s Syndrome / 3131 &gl

Correct Answer :-

« Down’s Syndrome / 313 [&=atd

28) The practice that legitimizes powerful men’s dominant position in society and justifies the
subordination of the common male population and women and other marginalized ways of a being

aman is called ./WWﬁWﬁQTm’QWWﬁmmﬁﬁﬁr
Terelt § 3R 3 gew e st ARt & srefear w iR e FE € sk
TN g F IHeq HATT it H FgT AT g

1. Femininity / ¥Tcd

2. Emphasized femininity / ETcd O SR AT
3. Complicit masculinity / STfeer giew

4, Hegemonic masculinity / mﬁiﬁm

Correct Answer :-

« Hegemonic masculinity / €331 GIeW

29) What do you mean by curriculum? / IISIHH & HTIHT FIT AdAT gidT &2
1. Sum total of the activities of a school. /ﬁﬂ'l?vl’«’lr #F afafafear fr gaaarn)

2. Sum total of the annual study. /EITﬁﬂF JCTIA hT FHIAT

3. A child learns through curriculum. / Tch d=dT UTSIAhHA O HfAITH P %l

4. Indicates the course to be taught by the teachers to the students throughout the year. /CR' ay #
fA&TRT GRT STEAT BT UG STl dTel UTSThA Dl S T ¢

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /CR' ay #
fA&TRT GRT STEAT BT UG STl dTel UTSThA Dl S T ¢




30) Students can overcome their misconception for the long term through: /

Rignelt Sefafr o R mme @ 3o IR SAURONI @ IR 9w ¥
1. Traditional teaching / TRUTR T80T

2. Standard teaching / #Tieh TI&TOT

3. Refutational teaching/ faRTenYoT fRraToT

4. Conventional teaching / GRURTITd fRy&T0T

Correct Answer :-

« Refutational teaching/ faRTeRIoT fr870T

Topic:- General Hindi (L1GH)

1) 1 B YrEieR] § diead BT gaud 81 dedie AH- # diedad ¥ TUIfad 811 ard 3R 39 yuma o
Siiad o ard @ & o I 9 AreierR) fAfd 31 59 e srawit # ude Iioie I9g SR TS 9t
Yrfie TWER & gt 1 @I & U 39 91d &1 RIPR giar & & I & a8l & aR | 399 Jarg o
S| fadt oft AU IRPR # 8% ANRS o1 fewan glar @ 8k a8 UTrfie™Y & gIRT 3T 81 URd U aiSdiiad
M 81 YRA & AN H TaRGR & A1eaw | 9= wfafAf gea &1 9P a1¢ g §U ufafAf T IRPR &)
A &1 U8 PR ASTHRT P ATHE TaTe @ 3R o 3R &1 &1 T=eq St € a1 71 fFraw a9t 81
Apda BT U Yayd Risid & fF % UoR &1 Iefae Afe &1 S wor gidl 31 dtwds & @i WaR 3t
T3 & ATeAH | U 3T WR M DR & | Th et Aipaitaed ReR § Jure § Iufia fafay ag!
3R Tal & Sfa ww faar sirar 31 59 ifaay & fAfor & g feft 9t smarer I+t ot 31 suferd 9 o=t
g1 oirar 8 % feft oft e # wofae = &1 dearT st J st Ariet & diw 8l

T 9t AR | fafis arfore Tugt # eovra & $H $1 | Heg fad 21 sufrd gure # Hierd ik
Thifa TR YEA F R T F AgieR) SR 81 99T 91 ATeien) A JgEeId! & Sdd A T91 ° gHhdl g
TEUHEIS & AP A 7 Had SIS TG q9T8 gl o1dl & afew sguetd Igg W aare giar g1 @ ot
STATS § AHAIAD IIBR BT YR T 8 | ST ABaa DI ATHT BT T 7@ F ford T o1 Argigrt
TN B | HUTS § THRIG SR TgHTP & ATdP B NPT Tl B ARG HT THGRT HRT SR B | Aibax
DI THT DT U TG TT DI AR BT Afad HRT ¢ | I & fafir ofm; I faunlye, srdurfere
3R ARIUI®T; & di T BT SCaRT T 8 | 59 A8 & dedR B Sfao JearT BT ol AHdT ¢

IUT TR P UgHR 1Y YR T U= $T Ik qarsy|
Y YRd A g1 g¢ ufafAify fae g-a 72

1. g7

2. FTATHA

3. forelt 1 AR

4. TP Dl

Correct Answer :-



SSERICIN

T STt fdfeat vef w

A T &

IC a1 P B W

wwft Tt @
CIRCIKIGERICRR R

a7 3T §

IR ¢d 9d B W)

Hedl o B

HHe Al § 99 O

3 fyars ue gl |

3R 59 e et @ R A

TS Hiaar B ®

Iued U=IiR ) g - 3T 1T Y & IR gargd
TY: AW TR BRI WX FT Fied 82
1. hehg

2. GeR

3. '

4. alel-dTdel

Correct Answer :-



R orelt y@ v w®

SSERICIN

o1 wTan fRifeat v=f w

A T ¥

IC a1 P B W

wuft o @

CIECIRAGES G R R

qTaT 3T §

AR d Jd B R

Hedl o B

HHe Adl § 99 T

3 farg ug gt A

3R 59 e foreeht @ R A

TS Hiaar B ®

Iued U=IiR ) g - AT 1T Y & IR gargd
UY: BT TS F141 A A8 $A A9 TP Hidar ferad o2
1. 93l FHATH ®Y @ G wh

2. BIITSA-PHeld AP

3. pfadr @ Y forgdr &

4. frel ¥ forgar @

Correct Answer :-

o Tl gACHT BY A AT FLh

4) fafgan amdt @

ST wiTelt fo s vt W)
g4 3Tt §

e =Tt @ v w
A T &

wor e fHifeat vf w
AT T &

Ide AT et B W



wwit et B

Fielt gra-arad B )

qTaT 3T §

IR 3d d B/ R

Hed 3Tt @

HHE A § 99 T

3y fars us BTl A

3% 39 v Rred 3 s¥ A

TS Hiadr B )

ST RIS ®1 g - fr T uel & IR qargd
"Y: ‘fYarg’ &1 71 Uaad giar 82
1. fAr$-TR1S

2. FY-IR & IAZ BT Heal

3. Qdl 1 S

4, BEc H IS

Correct Answer :-

o Y- P TAS BT e



HHE Al § 99 O

30 farg ug gt A

3R 39 e Rredt 3 ¥ A

TS Hiadl B )

Iued U=IiR B g - 3T e usf & SR gasd
uY: ‘Helt fHue) Fed 82

1. el Eo] HEMAHT

2. vl T H HIHA HA drell

3. haol PIHAAT dTS

4. 3ugh aH

Correct Answer :-

o 3UH @

SSERININ

wor e fHifeat vf w
AT T &

Ide gl PeRl B W
awit amelt 3
CIRCIKIGERICRR R
a7 3T §

JdR od 9d B W)

e ol B

HHE Al § 99 O

30 farg ug gt A

3R 39 e Rredt 3 ¥ A
TS Hiadl B )

Iued U=IiR B g - 3T 1T usf & SR garsy



U G 3T § JouT e fifear & @ arerd 82
1. UceR & BIC Ths

2.30% H ¥ S e

3. BETS & DIC-BIC Ths

4. 90 & DIC-BIT T

Correct Answer :-

. U & SR TH

97T 3T §

JdR od 9d B W)

e ol B

HHE Al § 99 O

30 farg ug gt A

3R 59 e et @ R AW

TS Hiadl B )

ST U $I g A 3T 7T uei & IW Farsy
Y YAT SATHY BRI IR T IeC a1 82
1. etared

2. geair

3. TR

4. R



Correct Answer :-

HHe Adl § 99 TO

3 farg ug gl A

3R 59 v foreeht & R A

TP Hfadr B R

Iuad U= B g - 3T T Y & IR garsy
UY: §9 Ffaar & ‘&1 eg 5w o § wgaa gon 32
1. ¥ &P

2.5 &

3.9 &

4. 4 B

Correct Answer :-



ST STt fo e ™ W)

&1 3Tl 8

R ot @ v =

¥R 3T &

e e ffeat v=f
AT T &

IC a1 P B W

wwlt Tt B

Felt gra-arad B )
qTaT 3T &

AR ¢d §d B R

Hed 3Tt @

HHe Adl § 99 TO

3y fars us BTl A

3R 39 TE foradt @ g7 A
TP Hiadr B R

S U=l H1 UgH - f T uel & IR ¥argd
WY: 39 HIAdT & STHR UTIT THT BRI W R T Hd 32
1. OieT o &

2. 5[ 3R & &

3. O%E I &l

4, g o9 B

Correct Answer :-

o S 3dR &d B



AT T &

Ide 3aT et B W

wwft Tl @

Fielt qra-arad B W)

7T 3T §

JdR <d 9d B W)

Hed ol B

HHE Al § 99 O

30 farg us gt A

3R 39 @XE foradt & sR I

TS Hiadr B R

ST U B UgdR A1 AT 1T uel & IR 9arsq
TY: B 3T BRI IR Y @ et 82
1.9

2. Rfgar

3. g

4. &dl

Correct Answer :-



AR 3d Fd B R

Hedl o B

HHe Adl § 99 T

30 farg ug gl A

3R 59 s foreeht @ R A

TS Hiaar B

ST YR $T UgHR A 73T 7T wei & IwR Fargy
TY: 3R 39 avE et § 3R A T Fiaar B W’ A ale &1 whd fhaat ok 32
1 #ASY & 3R

2.5 | g G

3. fopdl ARrgX SafdEr fr 3R

4, TqT & 3R

Correct Answer :-

o AR F AR



TS Hiaar B )

ST U=l Bl g - fy T uel & IR ¥argd
TY: GRS SATH W= &b AU T TP T 82

1. AT ST § W

2.1 &ar § &Y

3.30H ¥ PO el

4. gt STaT & Tifear

Correct Answer :-

X 3T &

o1 wTan fifeat v=f w

AT AT B

IIC a1 P B W

wwdt ot B

CIECIRAGES G R R

qTaT 3T §

AR d Jd B R

Hedl o B

A Adl § 99 5O

3 farg ug gt A

3R 39 @vE foradt  ax A

TS Hiaar B

ST YR $T UgdR A 3T 7T wei & IwR Farsy
UY: TR BRI UR SSHI FT-FIT ST g IPd 82

1. T, A, Tpell fvaT

2. g, -, AHATTSS FARE # aifde ger




3. @ary, WY ATHaT

4, T, €I, HIold, dradid

Correct Answer :-

o T, €O, A, aradrd

14) ffgan st &

ST wirelt foe v )

g1 3T 3

freR STt Y@ vl w

SSERICIN

T STt fdfeat vef w

A T &

IC a1 P B W

wwft Tt @

CIRCIKIGERICRR R

qTaT 3T §

IR ¢d 9d B W)

Hedl o B

HHe Al § 99 O

3 fyars ue gl |

3R 59 e et @ R A

TS Hiaar B ®

Iued U=IiR ) g - 3T 1T Y & IR gargd
UY: PHPA P I A A S AN AT US TAE ?
1 Tes

2. foars
3. ool

4, AT

Correct Answer :-



15) fafear ot @

ST9 STt foeds =t R

&1 3Tl 8

foeR ot @ wf =
SERIEIT

e T fifeat v w
A T @

e a1 P B W
wuft o @

et grer-arad B W)
a7 3T §

AR ¢d 9 B W

A 3Tt B

HHe Adl § 99 TO

3 farg ug gl d

3R 59 s foreeht & R A
TP Hfadr B R

ST U B UgHR A1 AT T¢ uei & IR 9a1sq
wy: Rifgar s w=f W w1 319 Wt @2
1.

2. 33

3. 9T

4. faa®s

Correct Answer :-



SSERININ

T srar fdfeat vef w

AT 31T §

¢ ¢al HeR B W

wait Tt @

CIRCIKIGERICRR R

qTaT 3T §

IR ¢d 9d B W)

Aol o B

HHe Al ¢ 99 O

3 fyars v gl |

3R 59 s foreelt 8 sR A

TS Hiaar B ®

Iued U= B g 1 3T 1T usf & 3R gargd
UY: "HES! AT YT $O AT Al 7 A FT Haad 872
1.3dH @ PI$ At

2. 1A AT ol ¥l

3. WA o/ dud & STl &

4. @1 B W el g8 A Tiga HAT A

Correct Answer :-

. @ T W e g A s W A ¥

[
~’

7) WO A WP & AFaT FT AFAT §1 AFAAF AET A dhaT & g @ arer 3R 3w waa A
N e et F T gar f W AT 8 5@ W sgaEwr #F v aenow @ 3R ween
sfleY AR & g &1 AN & 99 37 919 F1 JWFER g1 § F 4T F TOF F I FH 399 g
S fed st 3y R F W aRE 1 REar gar § 3k 37 smfie® & qEnr et ¥ YRa e
i & 31 R & oer @Y AaftER F e @ ven gl gaa §) seF T 99 ge sl
TWEFR A T §1 97 TER Qoo F1 o gareh § 3R P 3R Fee w1 weed wa § @ a
TAT §1 ST F1 0F A Rguid § F W TFR A ToefdEw aiFd w1 aa g @t ¥ dway
FaUS A HEAHT F OATETA AU T W AWA I §l TH HTS AFdiAE WER H AW A
suftya Ry et 3k 7a # sfa a@e far srar @1 aa Aot & fBeaor §F e B i smaer g
STt 81 sufad I SR @ ST § F Rl s Aleaw A oA e #1 deany e F e AnRE &
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1. qBefR

2. &N

3. e

4, TTHH

Correct Answer :-

30)maﬁrma'¢m€raﬂma»‘rn§mfsr%lmwﬁmam#m#qmaaﬁmaﬁrmm#

F &g gar 7 FEeht ART B 59 awe sgavwr # v@F wEeE @ AR wHe
#ramﬁamwﬁa?hwmﬂ?wwmmmﬁwm%ﬁ:am*m*m#mm
Cil dr FER F W ARE F1 RfEwr @ar § Ak g7 amile® & g@Emr amar B qRa
dwaiiys U 71 0RaT F o MY FAOUER & Aregw § awen vl goaa §) 39F 9 9w ge v
aﬁm%lwwﬂmm%mﬁm%aﬁrmaﬁtmmmmﬁ%mﬁ
3t wmm%ﬁﬂmﬁmammmmm%lm#
mw#mﬁmwamm%lwa—&mﬁrﬁmm#m#
mwmmmﬁmmmmammﬁm*mﬁam&mw
St ¥ s I8 SR g oraT § R R s day F Teeifaw @9 # deart w0F @ 3T aniE &
Cig)

eﬁﬁrmr@#a:mm#rvm%rm%lmﬁaﬁaﬁ#wﬁ%m@wmm%l
TGEEIF F Hdh F 7 FId HeTWETS WHF dalg &1 1T § afed gaeds wog st qare giar &1« A
mammmmm%lmﬁmﬁmmmmﬁﬁmwaﬁ

39YFd AGHIT T IGH AR Y& AT T FT 3ca} IaBT
gt e et & FwAfor F fraehr smarer e S ¥
1. Tgafa &r

2. &I AT

3. feanfa ufafaraat &

4. T fpdly



Correct Answer :-

« & TRl dr

Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check the
dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad
I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says the counter-
'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a flurry.' One says
the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

What happens when the counter utters ‘ten’?
1. The person is checking the dials

2. The person is checking the fuel

3. The person is checking the engine

4. The person is checking the panel

Correct Answer :-
e The person is checking the dials

2) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-1'd better check the
dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad
I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says the counter-
'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a flurry.' One says
the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

Where is the astronaut?

1. Inspace

2. Outside the launching pad
3. In the launching pad

4. In the space-ship

Correct Answer :-

® In the space-ship



3) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check the
dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l 'm glad
I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says the counter-
'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a flurry.' One says
the counter-'It's too late now to worry!" WHOOSH - they're off in a flaming HURRY!

What happens at count-down nine?
1. Rocket is readied

2. Astronaut gets ready

3. The engine is switched on

4. The computer is accessed

Correct Answer :-
» The computer is accessed

4) Read the following passage and answer the question given below:

The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check the
dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'I 'm glad
I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says the counter-
'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a flurry.' One says
the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

When six is counted what does the astronaut in the rocket do?
1. Is asked to be calm

2. Becomes calm

3. Reminds himself to remain calm

4, Is unable to be calm

Correct Answer :-

e Is asked to be calm

5) Read the following passage and answer the question given below:



The count-down's beginning at the launching pad. The astronaut's pulse is beating like mad. Ten says the counter-I'd better check the
dials.' Nine says the counter-Access all the computer files.' Eight says the counter-'I can't find my key!' Seven says the counter-'l 'm glad
I had my tea!'-Six says the counter- 'I must try to keep calm.' Five says the counter-'Or else I'll come to harm.' Four says the counter-
'Oh, I've found it at last.' Three says the counter Oh, now I 'm ready for the blast.' Two says the counter-'I 'm all in a flurry.' One says
the counter-'It's too late now to worry!' WHOOSH - they're off in a flaming HURRY!

‘Where does the count-down begin?
1. Factory inauguration

2. Place takes off at the airport

3. Train flag off at the station

4. Rocket launching pad

Correct Answer :-

® Rocket launching pad

6) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

Who is specified to know what a circle is?
1. Children

2. Bangles

3. Moon

4. Sun

Correct Answer :-



® Children

7) Read the poem carefully and answer the question given below:

The earth we live is a circle.

Hot hot sun is a circle.

The cool moon is a circle.

Delicious orange is a circle.

Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

The suitable title for the poem could be:
1. A circle

2. The moon

3. The sun

4. Bangles

Correct Answer :-

. A circle

8) Read the poem carefully and answer the question given below:

The earth we live is a circle.
Hot hot sun is a circle.
The cool moon is a circle.

Delicious orange is a circle.



Bangles we wear too is a circle.
Hey...The ball we play is also a circle.
Children! Now We all know

What a circle is! — J. Sahaha Lalithambika

How many things mentioned by the author is in the shape of a circle?
1. Six

2. Seven

3. Four

4, Three

Correct Answer :-
e Six

9) Fill in the blank with the correct option from those given below:

The Dean his staff to spend a larger chunk of their time with the student community.
1. authorities

2. authorized

3. authority

4, authoritative

Correct Answer :-

e authorized

10) Fill in the blanks with the appropriate conjunction.
He was intelligent brave.
1. from, to

2. not only, but also

3. though, either



4. whether, or

Correct Answer :-
» not only, but also

11) Choose appropriate articles for the given sentence:

I first met Hina ___ year ago at _____ investiture ceremony.
1. an, no article required

2.a,an

3. no article required, a

4. no article required, the

Correct Answer :-

12) Choose the appropriate option that rewrites the given sentence in its passive voice.

Gautham Gambhir has announced his retirement from all formats of cricket.

1. His retirement had been announced by Gautham Gambbhir from all formats of cricket.
2. His retirements from all formats of cricket have been announced by Gautham Gambhir.
3. His retirement from all formats of cricket has been announced by Gautham Gambhir.

4. Gautham Gambhir has been announced by his retirement from all forms of cricket.

Correct Answer :-

» His retirement from all formats of cricket has been announced by Gautham Gambhir.

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

Sorry we late, we a wrong turn.

1. had been, were taking
2. are, took

3. were, were taken



4. are getting, had taken

Correct Answer :-
e are, took

14) Choose the appropriate antonym for the highlighted word in the given sentence.

She is secretive about how much money she earns.
1. callous

2. forthright

3. cautious

4. covert

Correct Answer :-

o forthright

15) Choose the appropriate pronouns in the given sentence:

go for a regular health check-up at the clinic run by cousin.
1.1, my
2. 1t, its
3. She, her

4. He, his

Correct Answer :-

16) Choose the appropriate synonym for the highlighted word in the given sentence.

My mother would warn me not to fidget in my place while she combed the knots out of my hair.

1. tussles
2. curls

3. entanglements



4, ties

Correct Answer :-
e entanglements

17) Choose the appropriate prepositions for the given sentence:

He sent her a lovely bouquet roses, which she threw the floor.
1. in, against

2. on, for

3. of, on

4, of, at

Correct Answer :-

18) Choose an appropriate modal for the given sentence:

Tasneem swim like a fish.
1. must
2. shall
3. may

4. can

Correct Answer :-

19) Choose the option that best explains the highlighted expression:

He had flu a couple of months ago and he's been a bit off-colour ever since.
1. flushed

2. over cautious

3. hyper sensitive

4. not being his usual self



Correct Answer :-
* not being his usual self

20) Choose the option that best combines the given sentences.

The speaker had just finished his speech. The people started shouting slogans.
1. Hardly had the speaker finished his speech when the people started shouting slogans.
2. Hardly had the speaker finished his speech than the people started shouting slogans.
3. Hardly had the speaker finished his speech then the people started shouting slogans.

4. Hardly had the speaker finish his speech and the people started shouting slogans.

Correct Answer :-
» Hardly had the speaker finished his speech when the people started shouting slogans.

21) Choose the option that best transforms the sentence into Indirect form:

‘Ugh! There’s a fly in my soup. Waiter!’ he cried

1. Exclaiming with disgust that there has been a fly in soup and began to call the waiter.
2. He exclaimed with surprise that there was a fly in soup and called the waiter.

3. He exclaimed with disgust that there was a fly in his soup and called the waiter.

4. He exclaimed with horror that there is a fly in soup and called the waiter.

Correct Answer :-
» He exclaimed with disgust that there was a fly in his soup and called the waiter.

22) Choose the option that substitutes the given phrase appropriately.

Action of getting rid of something
1. Sale

2. Disposal

3. Dismissal

4, Relief



Correct Answer :-
» Disposal

23) Read the sentence carefully and choose the option that has an error in it:

I did not understand their predicament until John explained me all the details of the mishap.
1. until John explained me

2. all the details

3. I did not understand

4. of the mishap.

Correct Answer :-
« until John explained me

24) Read the sentence carefully and choose the option that has an error in it:

Anyone who wish to participate in the competition may do so by tomorrow.
1. in the competition

2. may do so by tomorrow.

3. Anyone who wish to participate

4. No error

Correct Answer :-
e Anyone who wish to participate

25) Change the given sentence to Indirect speech.

"I am reading a book,” he explained.

1. He explained he will be reading a book.

2. He explained that he was reading a book.

3. He explained that he has be reading a book.

4. He explained that [ am reading a book.



Correct Answer :-

» He explained that he was reading a book.

26) Fill in the blank with the most appropriate preposition from the options given.

I need some help my homework.

1. over
2. below
3. with

4, above

Correct Answer :-
e with

27) Choose the most appropriate determiner in the given sentence.

Amazon is considered to be the largest river in the world.
1.A
2. This
3. The

4, An

Correct Answer :-

28) Fill in the blank with the correct option in the given sentence:

An apple that has ripened to a soft stage may be said to be —ripe.
1. un--
2. over--

3. under--



4. in--

Correct Answer :-

29) Fill in the blanks with the correct options in the given sentence:

Carbonat-- water gives soda pop its effer--.
1. --ing, --ion

2. --ion, --ings

3. --ed, --ence

4, --ive , --ance

Correct Answer :-
e --ed, --ence

30) Choose the right tag:

You attended the meeting, ?
1. did you

2. didn't you

3. have you

4. haven't you

Correct Answer :-

e didn't you

Topic:- Social Science (SSC)

1) Which organization has established the Financial Mechanism named 7he Green Climatic Fund? [

forg e A g T Afe® e AW F faxita yomreht wifta #1 82

1. WWF / SeeggeegUh
2. UNEP / quaAsur



3. UNFCCC / JUuATHHEE!
4. UNDP / JueASIdY

Correct Answer :-

« UNFCCC / JuATHHEET

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar? /

5 TA RIS a1 Ieigd A AW §HHR 9G9TR § T9S WY §HarT?
1. Alexander / 3Toldraiax

2. Selucus / @W
3. Heliodorus / &Terasyg

4. Demetrius/ aﬁﬁl’rﬂ?{

Correct Answer :-

o Heliodorus / m?flw

3) The main objective of setting up a social science library is: / ISR ﬁﬁ'ﬂ' Y hTey
RITRT $3 ST TBT 3224 g

1. For recreation and enjoyment / ARSI 3R 3Teg & forw

2. As place of preparation for competitive examinations / UTIAIe T I dTRT & TATT &
®q H

3. To enable the pupils, engage in self-study and for reference / faafdat @ w@-31eaaa # dored
AT AR F@eH & o a@&Td e

4. As a common place for independent study / I JETIA & foIT Th FET 596 & §T A

Correct Answer :-

« To enable the pupils, engage in self-study and for reference / faanfdat ot Ta-31cgga # dorod
B R TG F fow FaTH aATeT

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of a

particular group is known as: lﬁwﬁﬁ'wﬁ%m aﬁ?aﬁmaﬁmw
foRiy 9 & 99 SR PIRE A FRaAT 3

1. Criterion-referenced evaluation / FATAGS-HG d Hedlhed



2. Formative evaluation / T@AUNcHS / TATCHSD d-Leéliqvo-l

3. Norm-referenced evaluation /3fGfRId HedTehed

4. Summative evaluation / INTMcHD / HheldlcAd / A Hedidhd

Correct Answer :-

« Norm-referenced evaluation /3fAGTAT HedThe

5) Milindapanho text is in the form of a dialogue between the king
Menander and Which Buddhist monk? / Afdcusg oy U= Aav= 3R f&d
dleyr ey & i arataTT 1 qoie §?

1. Nagasena / AW
2. Nagabhatta / «mrHce

3. Nagarjuna / &S

4. Kumarilabhatta / $#ATRe #ee

Correct Answer :-

. Nagasena / A A

6) A Commission to review the working of the Constitution was appointed by Government of
India under the Chairmanship of . [ AR (PR CdRT &1 regerar &
"faue & w1 A gAem & v o amAer Agaa B o

1. Justice Sabyasachi Mukherji / Fﬂ'l'ﬂ'c‘{ﬁ qegardr BI@Gﬁ
2. Justice Ranganath Misra / qu?iﬁ ATy s

3. Justice J. S. Verma / =IIH{fd I.0H. IAT

4. Justice Venkatachaliah / =IIfd dehecderdr

Correct Answer :-

« Justice Venkatachaliah / =aTI3fd ddhederar

7) Topics of study suitable for the age, ability and interest of children are included in the
curriculum are known as ./ FEEt HY 3T, &THaT 3R IR F R IuYFT IrewwT F
vt F1 gregEH F afaed Far I &, &9 gl ST B

1. Topical approach / HHARIE ETRHITT



2. Unit approach / SIS TI¥pIuT
3. Spiral approach / &@fder gf¥eroT

4. Chronological approach / mlﬂlgwﬁ-lqv TTRepIoT

Correct Answer :-

« Topical approach / HHRI® TTRIOT

8) When farmers sell a portion of their agricultural goods in the market, it is called ./
o fuT, R # vl F awgat F1 v Rewr = €39 FET ST g

1. Marketed surplus / fagforg A (AThes TxTa)
2. Marketed output / f[auforad 3curet

3. Surplus goods / 3TTAAT HATer

4. Total output / Pel ScUTceT

Correct Answer :-

« Marketed surplus / fagfora 3fady (FThes TTH)

9) Black money is also known as . | FT Tl Y & T F ft =T FATew

el
1. Dynamic economy / UTdTaTeh egaEar

2. Moderate economy / ACIH 3T NIaEAT

3. Parallel economy / HATATAR  3TICITET

4. Stagnant economy / 2R 31dcgaear

Correct Answer :-

« Parallel economy / THATATR  3AcTaET

10) “Nature provides opportunities and human being make use of these” is central theme of
which of the following geographical philosophy. / "J&fa 3@ WaTe Tl & 30 AT FeTahr
3TNT AT & AT 7 @ By dlnfew e &1 F09 Qv g

1. Possibilism / THddIE
2. Marxism / 3:||5F'\'f|a|a



3. Feminism / RIATG
4. Determinism / Safaare

Correct Answer :-

« Possibilism / HIAIE

11) In which case the Court ruled that nobody, not even the Parliament (through amendment)
can violate the basic structure of the Constitution? / 5T AT # e JF haar 3 F
F1$5 oft, 78T aF & gug (WNUe & ATeAA V) @AY F AT IR F Seadd q¢1 H
"l §?

1. Minerva Mills vs. Union of India / ff<TaT Fed Tamd@ ARG 99

2. Mukti Morcha vs. Union of India / E@ﬁ? AT g1 HRA T

3. S. R. Bommai vs. Union of India / TH. 3X. Eﬂ?%clé IATH HRT I
4, Kesavananda Bharati case / AT HRAT ThIOT

Correct Answer :-

« Kesavananda Bharati case / $RTdTee dRAT UhoT

12) Who established the Indian Statistical Institute? / TRNT I TEUTT HT TATIAT
et &

1. Jawahar Lal Nehru / ST ol &

2. V.K.R.V.Rao /dl. &. 3R, &1. 7@
3.R. C. Desai / 3R, &I. A
4. P. C. Mahalanobis / OY. &Y. dAgTa=eg

Correct Answer :-

« P. C. Mahalanobis / dT. €T. EFI'Q‘?I?’lT-ﬂﬁQ:[

13) Who can increase the number of judges if deemed necessary? / Ife raedd AT AT ar
~grameielt Y TEAT FIT TGT THAT 7?2

1. President / Trgufd

2. Chief Justice / &I =ITATHIA



3. Parliament / Rapary
4. Cabinet / #AAFAS

Correct Answer :-

« Parliament / 98¢

14) Who is the exponent of Play-way method? / *a-d Rfr & wfaures =i &2
1. Maria Montessori / FTRAT ATCEAN

2. Friedrich Froebel / s WIder

3.D.W. Allen / &I, Seog, Teld

4. Jean Piaget / i O

Correct Answer :-

« Friedrich Froebel / e Whidd

15) Who can create Vidhan Parishad in a State? / Us¥ & faurer aRwg &1 A#ATr slq a1
THhaT §?

1. Chief Minister / FTIHT
2. Governor / T4l

3. Cabinet / AT

4. Parliament / I9¢

Correct Answer :-

« Parliament / I9¢

16) India Gate was built as a memorial to the soldiers of ./ 3T AT A &
At A Tfa & ve TIRF F w9 H FoT T=4T 9

1. World War 1 / U?»T*T ﬁ?ﬂ'ﬁa
2. Indo-Pak War 1965 / HRd-Uldh & 1965

3. Bangladesh War / SCITGR] g
4. World War II / G&R faRag<



Correct Answer :-

- World War I /Ugdl faagg

17) has the sole right to mint coins. / & 9 AT e FT THAT AAHR

el

1. State Bank of India / IRAT & db

2. The Reserve Bank of India / IR Rad d&
3. The Commerce Ministry / aTfOled FATT

4. The Government of India / ARd TP

Correct Answer :-

o The Government of India/ AR TIPR

18) is a community-based poverty reduction programme being implemented in Kerala

for the emancipation of women. / , ¥l # Hﬁ'ﬂTﬁT $r ﬂ'ﬁ'_cl' & fov s Hﬂ'ﬁ'\'ﬂ-
3renRa T fAaRer FRIEA 2

1. Kudumbashree / @W’ﬂ’f

2. Kudumbayogam / %‘Fﬂiﬂ'ﬂﬂ:{
3. Kudumbasametham / WW

4. Kudumbavilakku / gsd ia«a@s

Correct Answer :-

o Kudumbashree / W’bﬁ

19) evaluation is school based and aims at all round development of the student. /

Hediwa Thet MU ¢ 3R o= F warhor Remw F1 aa7 2
1. Intermittent / ATARTTAH
2. Continuous and Comprehensive / Hdd 3R s
3. Periodic / ATATIS

4. Phase-wise / TOT-dX

Correct Answer :-



« Continuous and Comprehensive / dd 3R <amUa®

20) The members of the Rajya Sabha are elected for a term of /ST HT &
Tl ¥ FRFE & AT g1 Srar g

1.6 Years / 6 ag
2.2 Years /2 ay
3.4 Years / 4 GLY
4.5 Years /5 ay

Correct Answer :-

e 6Years/6 GLY

21) The Directive Principles of State Policy have been adopted from Constitution. / 15T

Afa & A Pew aeat 1 & G @ 9w 4w g
1. Netherlands / eleis

2. Swedish / TS

3. Irish / 3TTARELA

4. Canadian / hafege

Correct Answer :-

o Irish / 3mafRer

22) The Pioneer of activity-based learning is J afafaf-ameaiRea e & gus
IaYFH gl

1. John Dewey / Siiel SidY
2. David Horsburgh / sfas ergeet
3. Robert Slavin / Jd¢ FoTiae

4. Adam Wesley / TSH d&el

Correct Answer :-

« David Horsburgh / 3fds ESRSEE))



23) The emission of gas as a result of the greenhouse gas effect from various
agricultural activities causes negative impact to the society. / Rffee Tfﬁ‘ LIGICIEE IR
deesa A9 & vwg F aRomATTT A T I JIATEIOT T AFRICHS
YHTg ST ¥

1. Chlorofluorocarbons / FelRIFeNRIhTeIeT
2. Helium / @ferds

3. Nitrous oxide / ABCH TFASS

4, Ammonia / 3TAIaAT

Correct Answer :-

« Nitrous oxide / 5¢H HIFATSS

24) The technique for generating creative ideas and solutions through intensive and
freewheeling group discussion is known as ./ g 3R Preifeler wagaaT & AreAw ¥
TATCHS ARt 3R TAYE 3cded FA T dhelld & T F AT AT B

1. Panel discussion / Uer =T
2. Brainstorming / gfgefterar
3. Dialogue / dTG

4, Debates / are-faarg

Correct Answer :-

« Brainstorming / gl

25) The Integrated Rural Development Programme (IRDP) was introduced in .

Thigd AT AF FREFA (IRDP) H 3T fFaT = A
1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

» 1978



26) Which of the statement regarding Barbara caves are true? / SRe&RT 3'_I_,":I‘TI'3'IT  gea A
farafaf@a & ¥ sl a1 sua7 7 &

i. These caves are the oldest surviving caves./ ¥ 'TFI'@'J ey El,,'{'l?ﬁ shfae {I,":I'Tl'ﬁ'l o

ii. They were built during the reign of Ashoka. / gel<hT AT rMF & AR A §'31T Tl
iii. They were dedicated to Ajivikas. /@ 3rSiifaeT & AT &

1. All are correct. / Y TEr &I

2. Only ii / &ddl ii

3. Only I/ &hael i

4. Only iii / Hdel iii

Correct Answer :-

« All are correct. / TT Flff %I

27) Which of the following has highest Albedo? / PFafaf@ad & & fFusT Vedls)
(FFTRITSTITe) Fa9 31T+ ghar 82

1. Fresh Snow / dioit fgd
2.Sand / Xd

3. Forest / del

4. Dry Soil / @I #Har

Correct Answer :-

e Fresh Snow / areil 1%1:[

28) Which of the following was the main objective of first five year plan of India? / Reafaf@a
A QT ART T 9YF7 G JaT F HET 3527 41?

1. Service sector growth / TaT &3 faara

2. Industrial growth / K BRI

3. Agricultural growth / Eﬁﬁf faera

4, Growth in manufacturing / fafaator & fowg

Correct Answer :-



. Agricultural growth / TV TIeprd

29) Which commission identified 3943 castes as Other Backward Classes and recommended
27% reservation in government and semi government jobs and admission to educational
institutions? / fFE 3MANT & 3= ST TF & ¥ & 3943 snfadt A gga= #¥ 3k
WHER vd I aFRT ARt 3k darfors TraEt & yawr F 27% ARaor A RAwRE
$r?

1. Kalelkar Commission / @Telelehy 3TTATIT
2. Mandal Commission / FHS ol AT
3. Ramanand Prasad Commission / THATEE gITe 3T

4. National Backward Classes Commission / TI'@'«’-T I EE T 3TAIT

Correct Answer :-

« Mandal Commission / FHS ol ITAT

30) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our
‘Republic’. /T TMUT F §AR 'I0TdT" FI IHgdT IIod I & AT, gEa@ar &
'AATSAIEY ereg F AfAe fram aram o

1. 42nd
2. 460
3. 48th
4. 44th

Correct Answer :-

. 42nd
31) Social Science exhibitions, fairs and cultural shows are meant to . | GTATSS
faemer geeieh, A ik gieplas FRiwA F1 el

1. provide a creative channel for learners / fRrenfdat & fow e JzoldlcHD Al UeTd PR
2. show the talents of social science teachers / HTHATGIGh A= fr&fet HT ufder fe@rar

3. increase the reputation of the school / ¥l &1 UTAST TSIl



4. invite and entertain the parents / FTAT-TUAT @I AT 3R FART FARSTA Bl

Correct Answer :-

« provide a creative channel for learners / A& & fow Tk FSTATcHAD ATl Ut el

32) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of following

processes? / ‘ﬁmmwﬁw’ﬁwwﬁrmaﬁwaﬂﬁ%m, &Wmﬁﬁ
o uforar &1 U HRar 82

1. Shows a video clipping / Tch A Feaftor @rar %?I
2. Gives a project / BRI E| (Eh@ﬁ?) %T%l

3. Conducts a discussion / T RNToId &IdT &l

4. Provides a problem / Th FHETAT ST &l

Correct Answer :-

« Conducts a discussion / TdT 3TANTSAT HIAT %l

33) The term “Civics’ in Social Science text changed to ‘Social and Political’ with the recommendation

of:/ WHATIIF faamer ure # fea & Iy W 'A% T reg F wwIfaE 3R
Teteiifas’ & ager foam aram: -

1. Secondary Education Commission / FAT¢ITH® AT 3T
2. NCF 2005 / TUAHITE 2005
3. Justice Verma Committee / =ITd IHAT TTATT

4. NPE 1986 / TUIS 1986

Correct Answer :-

« NCF 2005 / TAHITH 2005

34) “The central function of Social Science is identical with the central purpose of education i.e., the
development of democratic citizenship”, was stated by: /

"gATTeE e &1 F0T FF a7 F FHT 35527 F AW 8, 3G, AFdiAs
ARIR&ar &1 fawmE", I8 @ garT w81 =7 U1-

1. James High / S1&9 'i‘:lé'
2. I.F. Forester / o1.U%. HREET



3. John V. Michaelis / SifeT dY. HATSdh ord

4. Edgar B. Wesley / TSIR o, d¥el

Correct Answer :-

« John V. Michaelis / SIfeT dT. d-||$ch|r<\>N-|

35) In Vedic Era, Akhyani was the goddess of which of the following? / 3fe® I 7 “3r@goil”
ffaf@a & @ fradr &t 4

1. Forests / del
2. Rivers / =f¢ar
3. Fire / 313
4. Peace / i

Correct Answer :-

e Forests / dd

36) The scaled-down teaching encounter in class-size and class-time is known as . [ R&TT
& HR AR FaT F TAET H Naor A HTAF FA FE, & T H A=A
ST

1. programmed instruction /YTIATTAT fader
2. micro teaching/ &H IR

3. simulation /AR (D)
4. team teaching / &7 TRr&T0T

Correct Answer :-

« micro teaching/J&&H fRrafor

37) Which of the following cities was the capital of India from 1772 to 1912? /
fFrafafaa & @ @19 a1 e 9d 1772 3 1912 96 YR $ ISUT= AUT?

1. Daulatabad /EaFI?IWTc{
2. Delhi / faeen
3. Bombay / 9%



4, Calcutta / ddhdl

Correct Answer :-

o Calcutta / ddADTI

38) Ahmad Shah Abdali invaded India for the first time during the reign of which among the

following Mughal Emperors? / fFafifad gira qurel # § forasd Ima-asra § e 28 g A
YR UR Ugell IR AThHOT fahar UT?

1. Ahmad Shah / 31&Hcq QATE
2. Muhammad Shah / HgFHAC M
3. Shah Alam-II / TE 3ATIH-II

4. Akbar-1I / 3heX-11

Correct Answer :-

o Shah Alam-II / Mg HATAH-II

39) CCE stands for: / m% Bl Hddd %:

1. Continuous and Cumulative Evaluation / Hdd 3R HIA Hedlhed (PlclgId TS FHled
SdeYRI)

2. Continuous and Cumulative Examination / Tdd 3R TadY adia (Eﬁ“h—ilg—q?:m TS ZFZEFLFTQH
TFSTHARIET)

3. Continuous and Comprehensive Evaluation / Hdd AT gfdavor divﬂimo-l (q,j,,_ac_%a ug
PiFfeicagd SdeYRAd)

4. Continuous and Comprehensive Examination / Jdd ddT Gfdarul GRIE (i< -gad TS
CA IR ERCSIEERE)

Correct Answer :-

» Continuous and Comprehensive Evaluation / Hdd ddT giaaro d-‘Leé—lidno-l (q;lo-é\lo-iw{-l ug
PiFeioga SIeYRd)

40) The exponent of theory of multiple intelligences is: /ag-tri?rmrr frgra & ufdurcs
g

1. I.P. Guilford / o1. @Y. fTawg

2. L.L. Thurston / Tel. Tel. UEEA



3. Howard Gardner / @8 &R

4. Robert J Sternberg / Ja¢ o Teaaal

Correct Answer :-

o Howard Gardner / %ylag M

41) Branched programming is also known as: / Si<s TUTfERT &t A= A | o ST S %I
1. Intrinsic Programming / 37dRes Gramfder

2. Extrinsic Programming / dT&l Gramfder

3. Straight line Programming/ ¥1eft Y@1 wranfdier

4. Skinnerian Programming / TEhaRaeT Gramfder

Correct Answer :-

« Intrinsic Programming / 3TdRe i

42) The World Trade Organisation was established in the year . / fay =R e #t
RITYT T T gg 4

1. 1995
2.1991
3. 1994

4. 1989

Correct Answer :-

e 1995

43) Which of the following is not a characteristic of Palaeolithic Age? / fa&ffaf@a &
¥ Fler-H qTTOr FIA F TF FAwar 7@ 82

1. The Paleolithic also used microlithic stone tools. / YTUTHTUT ﬁ&ﬂTﬂﬂq TR & ISR &1 off
ESSEIRERCRI

2. During the Paleolithic age hominids grouped together in small societies such as bands./

QIATYTOT STl & a1 @fffasy ds S oI gaAe & e Ay gqgas |

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time

humans also used wood and bone tools. / QITATSTOT &l AlhgR T & SR & 3T



Q@ UEAET ST &, ETellich 38 FHI ATA ofebs! IR &2 & SIRT &1 1 3udher e
|

4. They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ &
qieil Y geheaT P HR AT UhgaT, RIBR i AT I §T SHTell START Bl TIeh
Shfad & gl

Correct Answer :-

« The Paleolithic also used microlithic stone tools. / YXTUTHIUT ﬁ&ﬂTQ'lﬂ'q TR & MRl &1 off
EISELIRERS R

44) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 2/ 1191 3R 1192 &
WIS F Jeu H AgFAg MY F JFEer frasr fFar?

1. Lakshmana Sena / ST&H0T T

2. None of them / 3 & aﬂé Tl

3. Jaichand / STddeq

4. Prithvi Raj Chauhan / Gt I e

Correct Answer :-

« Prithvi Raj Chauhan / Gt Ia7 digrd

45) Literacy refers to: / HI&RdI CAGIR ] I8l
1. Reading only / thdel Uget

2. Speaking only/ &hdel @leled

3. Writing only,/ &hde for@a

4. All of the above / SURTeRT HHT

Correct Answer :-

« All of the above / 3UUad I

46) During the reign of which ruler of Bahmani kingdom was the capital shifted
to Bidar from Gulbarga? / 9gH=ll AT & 5T AMF F ATHARIT & RIT TsTemet
T ¥ dIgR TAEAEART FT & =i o

1. Ahmad shah / 31&Hc QATE



2. None / $T-|T:ef q Zﬁé Fi??f

3. Aluddin shah / 3TelT3E1d QA&
4. Vira shah / Ta1 Qg

Correct Answer :-

o Ahmad shah / 3gHc ATE

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta
Malaya'? / @SR ¥@eT & &8 A4S @ 6 IRy Tods "3 Aaa fodr 42

1. Harihara / &R&

2.Dev Rayall / &a I II
3.DevRayal / &d I 1

4. Krishna Deva Raya / W JT

Correct Answer :-

« Krishna Deva Raya / @tUIGd I

48) was the committee constituted on ‘Revitalisation of Panchayati Raj institutions for

Democracy and Development’. / ‘Aehd= IR e F AT Twd T GEmt &
TRIGHR I afAfa &1 o Far = i

1. Ashok Mehta / 3720ep AT
2.GVKRao /ST &1 & 7@

3. L M Singhvi / Tl TH Rgdl

4. Balwant Rai Mehta / geTdd TT Aedl

Correct Answer :-
« L M Singhvi /TaT T fedy

49) Which ruler defeated Harshavardhana? / f&6d emd® & g¥atsT &I gd?

1. Vasudeva of Chahamana Dynasty / dielel (ITEHTT ) dA & arged

2. Nagabhatta I of Gurjara Pratihara Dynasty / E{!S-‘II gfder a7 & dATITHCS UAH



3. Pulakeshin II of Chalukya Dynasty / T[T aer & W‘\’ﬁ el

4. Shashanka of Gauda dynasty / TN T & AAH

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / dTe[dFd aer & WQﬁ g

50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

fArafaf@a geanit 1 39 FaFA F FA H HIRIT
1. T G&dT

2. AT WA

3. T MRS wFAET

4. @A QT

1. 1-2-3-4

2.4-3-2-1

3.2-3-1-4

4, 4-2-3-1

Correct Answer :-

. 42341

51) During the integration and merger of states after India’s independence, the Government of
India rejected the farman of which State’s ruler? / HRd &1 FadFdT & 91§ ISAT & THIHIOT
3R Roae & e, 9Ra WFR o 5 T & IEF & WA F FEFR T A

1. Raja of Kashmir / &R & Il
2. Ruler of Travancore / ITAUThR & ATTD

3. Ruler of Junagarh / S[cI9TG & ATHD



4. Nizam of Hyderabad / $eXrdig & fsma

Correct Answer :-

« Nizam of Hyderabad / geXdiG & faAsieT

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque on a

crumbling bank”? / #gIcAT Tt o Ae & ¥ F¥ yrag g feoqoly i & "gg 3mar i
aE &1 A% o1, S9sr dF Js¢ g arar gn"?

1. August Offer / 3TITET TEATT

2. Communal Award / TFUGITA® gIFh

3. Government of India Act 1935 / #Rd TR HTATAIH 1935
4. Cripps Mission / fopta farereT

Correct Answer :-

« Cripps Mission / fopta faereT

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus? /

fAedd! TSR # IR $T Arafaf@d AT # F9 T W @1 31 96T 82
1. Intermontane Plateau / 3/dRT9ddd TR
2. Dissected Plateau / fawsfed usR

3. Volcanic Plateau / o-dldldi{sl'\lu UFIEd
4. Continental Plateau / FARTGIGIT TSR

Correct Answer :-

. Intermontane Plateau / 3/dRT9ddT TR

54) Stream flowing in the direction opposite to the original consequent slope is known as. /

YRS efadt sare & Aol fGen & gaifa o & oot & w9 & e Srar 8

1. Obsequent / Wﬂﬂ?ﬁ
2. Resequent / Hma_cl?ﬁ

3. Sunsequent / Hﬂﬂ?ﬁ
4. Insequent / 3ThAddT



Correct Answer :-

« Obsequent / UcdeJdd(

55) What percentage of the world's volcanic activity occurs within the oceans? / f@?a &Y

saraerEl afafafer w1 fraer gfaera FeErERE & #fiaw gar 82
1. 40%
2. 50%
3.70%

4. 90%

Correct Answer :-

* 90%

56) Which of the following is the largest mangrove forest in the world? / fA=faf@a & & =i
g & g w31 AT a7 §?

1. Greater Antilles Mangroves, Cuba / 3eX Tifersl Hald, T

2. Sumatra Mangrove forest, Indonesia / JHTAT Haa dd, sgﬁf‘hm
3. Bahia Mangroves, Brazil / arfear ?ﬁ"m_d, SITSiTel

4. Sundarbans Mangrove forest, India / W Hag a4, IR

Correct Answer :-

« Sundarbans Mangrove forest, India / '\'1?\'{_6!?[ Hog a4, aRda

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / 9Tt} PR a1t Aey
v # fFe 7 W gemar = 32

1. Narmada / FeT
2. Tapti / ATdT

3. Son / Qi

4. Chambal / IJd

Correct Answer :-

« Chambal / Idd



58) Guantanamo Bay is located in which country? / 7aidTa®T WS F9 & # foua &2
1. Cuba / Fgdr

2. Haiti / &Y

3. Bahamas / d&THATH

4. USA / 313eT

Correct Answer :-

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? /

farafaf@a & & fFw v & Sger-danT Sadsa Red Rua @2
1. Arunachal Pradesh / 37%0TTIeT U¢er

2. Manipur / ATOTQY

3. Assam / 3THHA

4. Sikkim / f&rfarepa

Correct Answer :-

« Arunachal Pradesh / 37%UTol ULl

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the
following countries? / AFafaf@a & & f°y g # AR ardl, R &1 Fa@ 731 WK I
ae faatar fua 82

1. Japan / SIT4T<

2. China / i

3. Australia / 3T Toram
4. Germany / STHAT

Correct Answer :-

« China /A



